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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

1-  All of these alternatives are carbon-based fuels whose molecules are smaller and
simpler than ---------- X
1) gasoline is 2) gasoline
3) they are in gasoline 4) those of gasoline
2-  Marshall extended the analysis of Black female characters --—--—----- by Hurston and
Brooks.
1) begun 2) were begun 3) that it began 4) who they began
3 - atmospheric storms arise in a matter of hours and last for days, magnetic
tempests develop over decades and persist for centuries.
1) While, 2) In spite of 3) Whereas 4) Nevertheless
4-  The prospects of discovering new aspects of the life of a painter as thoroughly
studied as Vermeer are not, on the surface, ---------- .
1) encouraging 2) as encouraged
3) to encourage 4) be encouraged
5-  The gypsy moth is also subject to attack by the nucleo-polyhedrosis virus, or wilt
disease, ---------- the caterpillars in outbreak years.
1) a killer of a particularly important 2) an important killer particularly
3) a particularly important killer of  4) an important killer particularly of
6- Nonverbal thinking, ---------- mechanism in engineering design, involves
perceptions, the stock-in-trade of the artist, not the scientist.
1) a central 2) whose central 3) that is central 4) is a central
7-  If a species of parasite is to survive, the host organisms must live long enough for
the parasite to reproduce; if the host species becomes extinct, so ---------- A

1) its parasites will 2) do its parasites
3) will its parasites too 4) does its parasites
8 science fiction is a literary subgenre is a point that is often overlooked.
1) What 2) That 3)If 4) The
9-  To strive, to seek, to find, and ---------- are the heroic goals of Ulysses in Tennyson’s
famous poem.
1) not yielding 2) not to yield
3) do not yield 4) not yield
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10- Generally, scientists enter their field with the goal of doing important new research
and accept ---------- with similar motivation.
1) that their colleagues are as 2) those as whose colleagues
3) those as colleagues are 4) as their colleagues those

PART B: Written Expression

Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the
sentence to be correct. Then mark the answer on your answer sheet.

11- After a series of observations, Watt saw that the new engine’s waste of energy

1 2 3
could be reduced with adding a separate condenser.
4
12- But just 50 million years or so later, fossilized bits and pieces of animals abound ,
1 2
suggesting that a great burst of evolutionary creativeoccurred in the
3

50 — million — year interval.
4

13- This material gradually coalesced into lumps called planetesimals as gravity and
1

chance smashed smaller pieces together, was a chaotic and violent process that

2
became moreso as planetesimals grew in size and gravitational pull.
3 4

14- To be started around 8000 B.C.E., the most extensive exploitation of agriculture
1

occurred in river valleys, where there were both good soil and a dependable

2
water supply regardless of the amount of rainfall.
3 4
15- In literature, a literal image is one that is unambiguously apparent to sensory
1 2
perception, however a figurative image is subject to wide-ranging interpretation.
3 4

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

16- Members of poor peasant families spun or wove cloth and linens at home for scant

remuneration in an attempt to supplement their ---------- family income.
1) original 2) consistent 3) meager 4) mercenary

17- The rapid expansion in international trade also benefitted from an infusion of
capital, ---------- largely from gold and silver brought by Spanish vessels from the
Americas.
1) pursuing 2) ranging 3) stemming 4) evoking
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18- Employees are always paid bonuses for suggesting improvements, however ---------- .
1) tangible 2) inconsequential
3) marketable 4) innovative

19- Expressive ties are social links formed when we emotionally invest ourselves in and
---------- ourselves to other people.

1) contribute 2) convert
3) project 4) commit

20- The use of celebrities such as singers and movie stars is common in advertising.
The intention is for the positively perceived ---------- of the celebrity to be
transferred to the advertised product.
1) attributes 2) chores
3) scripts 4) imitations

21- Many international organizations now use intranets to make the sharing of
information possible across offices separated by thousands of miles and ----------
time zones.

1) chronological 2) permanent
3) disparate 4) concurrent

22- Setting time aside to get to know team members on both a personal and
professional level, through social activities or team-building events while still
---------- professional boundaries, will go a long way to earning their respect.

1) maintaining 2) replacing
3) diminishing 4) distorting
23- To ensure that your team is productive, and that the workflow runs ---------- you’ll
have to think on your feet when problems arise.
1) sympathetically 2) crucially
3) empirically 4) smoothly

24- Advertisements for breakfast cereals have, for many years, been found to be
especially fond of fantasy techniques, with almost nine out of ten including such

1) diversity 2) content 3) justification 4) transparency

25- After we were waiting in line for three hours, the tickets had, much to our disgust,
been sold ---------- when we reached the window.
1)up 2) out 3) through 4) off

26- The founder of the Children’s Defense Fund strongly has ---------- the lack of
financial and moral support for children in today’s world.
1) demanded 2) sidestepped
3) decried 4) transcended

27- Anthropologists traditionally argue that the male-female division of labor in
hunter-gatherer societies arose because it promoted the nuclear family’s ----------
interests and thereby represented a sound, cooperative strategy.

1) joint 2) extemporaneous
3) transitory 4) flimsy
28- Thanks to the emerging technology of active noise control, automakers may soon
be able to ---------- noise inside a car and create the long promised “quiet ride.”
1) pinpoint 2) aggrandize
3) reverberate 4) dampen
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29- Because of the trauma they have experienced, survivors of a major catastrophe are
likely to exhibit ---------- of behavior and may require the aid of competent
therapists.
1) aberrations 2) manifestations
3) allusions 4) frustrations
30- In those shops differences of rank were ---------- as artisans and masters labored

side by side in the same modest establishment, were usually members of the same
guild and religious sect, lived in the same neighborhoods, and often had assumed
(or real) kinship relationships.

1) deemed 2) augmented

3) blurred 4) legitimized

PART D: Reading Comprehension

Directions: Read the following three passages and choose the best answer to each
question. Then mark the answer on your answer sheet.

PASSAGE 1:

Despite giant pandas being the feature attraction of zoos around the world—
bringing joy to millions of visitors each year—and despite the birth of a giant
panda cub in captivity always being headline news, the survival of giant pandas
in the wild is highly uncertain.

This charismatic and universally loved species is one of the rarest and most
endangered bears in the world. It was once spread throughout China, northern
Vietnam and northern Burma, but now the giant panda is found in the wild in just
six isolated mountain ranges in Gansu, Shaanxi and Sichuan Provinces in south-
central China. This distinctive black and white creature typically leads a solitary
life. It is a good swimmer and an excellent tree climber, but it spends most of its
time feeding. Three-quarters of all wild giant pandas now live in nature reserves,
but, despite this, they are still endangered. Nearly half of all wild giant pandas
were lost between the early 1970’s and the late 1990°s, mainly owing to habitat
destruction and poaching. Habitat loss and fragmentation are still the main threats
today and this happens in a variety of ways. For example, roads and railways are
increasingly cutting through the forest, which isolates giant panda populations
and prevents them from breeding.

It is well known that the giant panda almost exclusively feeds on bamboo, in
spite of its taxonomic classification as a meat-eater. Because of this, various
scientists have recently provided comprehensive forecasts of how changing
climate may affect the most common species of bamboo that carpet the forest
floors of prime giant panda habitat in north-western China. Even the most
optimistic scenarios show that bamboo die-offs would effectively cause this giant
panda habitat to become inhospitable by the end of the 21st century.

31- Which of the following is the main purpose of the passage?
1) To help solve a problem 2) To predict an ineluctable future event
3) To debunk a misconception 4) To give a warning
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32-

33-

34-

35-

36-

37-

It can be inferred from the passage that the fact that the birth of a giant panda cub

in captivity always makes headline news is most probably due to which of the

following?

1) Their being of concern and interest to the public

2) Their presence in zoos makes the spread of news about them convenient

3) Their being giant makes any event related to them very conspicuous

4) Their difficulty in giving birth to cubs outside their natural habitat

According to the passage, the giant panada living in the wild is unlikely to be found

in which of the following places?

1) Certain mountain ranges in China

2) In some provinces in China other than Gansu, Shaanxi and Sichuan

3) In some parts of south-central China

4) North-western China

Which of the following is stated in the paragraph 2 about panadas as something

unexpected?

1) Why they can only be found in China

2) Why they are endangered animal species

3) Why they are facing habitat destruction and poaching

4) Why their number declined between the early 1970°s and the late 1990°s

According to the passage, roads and railways can be regarded as culprits for which

of the following?

1) Their being the most important cause of pandas’ habitat loss

2) Their effect on the food sources of pandas

3) Their role in hampering rescue efforts to save pandas

4) Their acting as a barrier to panadas’ breeding

What does the underlined ‘this” in paragraph 3 refer to?

1) Changing climate 2) Meating-eating

3) Feeding on bamboos 4) Taxonomic classification

Which of the following could best be inferred from the passage?

1) Climate change would exert its pernicious effect on pandas’ populations
indirectly.

2) Given the present circumstances, keeping pandas in nature reserves is a sheer
waste of financial resources.

3) There seems to exist no viable strategy to employ to thwart the demise of giant
pandas outside China any time soon.

4) One reason why pandas are in danger of extinction is their idiosyncratic
solitary life, which makes their breeding rate slow.

PASSAGE 2:

Promoting safe and healthy environments for parents to engage and play with
children is important for them to thrive. However, parents and caregivers may
experience a lack of bandwidth and support to engage in play with their children
due to various stressors, including financial, personal and professional ones.
Moreover, a low awareness of the value of play can be an obstacle to increased
demand among parents and caregivers and policy makers for national policy
change, and parenting support programs.
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38-

39-

40-

41-

42-

To encourage playful interactions between parents/caregivers and children,
governments and other stakeholders need to create an enabling environment.
This includes creating policies that promote play-based learning and affirm
children’s right to play, and investments in parenting support programs that
support caregivers’ health and well-being and equip parents/caregivers with the
skills needed to engage in play with their children. These policies should equip
parents/caregivers with the support they need, including through: paid parental
leave; quality, affordable, accessible childcare; spending power through social
benefits such as universal basic income; mental health support; and the creation
of supportive communities and networks.

Increasing the demand for play and fostering public support will require
strategies that help parents understand the immense benefits of play, recognize
their role in providing meaningful play experiences in the home environment,
and empowering them to engage in play with their children. Playful interactions
between caregivers and children could include games that require no
objects/tools like peek-a-boo, hide and seek, or simply responding to a child’s
facial expressions and sounds. However, for games that require solid objects to
make play possible, the materials do not have to be expensive. Children’s
learning environments can be enriched with locally produced toys and materials
that are informed by their communities’ traditional learning and play context. In
the home, they could be made of ordinary household items that are safe for
children to play with.

Which of the following best describes the organization of the passage?

1) A claim is made, and the corroborating evidence is evaluated.

2) A problem is identified and ways to resolve it are explored.

3) A prediction is made, and certain factors that influenced that prediction are
considered.

4) A problem is identified, a solution is proposed, and potential difficulties with
the solution are raised.

Which of the following can be best inferred from the passage about parenting

support programs?

1) They seem to have been instituted without due regard to the value of play.

2) If they are put into use as they are, they can meet their actual objectives.

3) Most parents and caregivers are unaware of their existence.

4) It is time for them to be seriously considered and espoused.

The underlined word “ones” in paragraph 1 refers to which of the following?

1) parents 2) environments

3) stressors 4) children’s play

All of the following are mentioned in the passage as requirements needed to

generate an enabling environment, as it is described in paragraph 2, EXCEPT

1) promoting play-based learning

2) acknowledging children’s right to play

3) making investments in parenting support programs

4) making parents accept their parenting responsibilities

It can be understood from the passage that the present demand for play is ---------- !
1) no less than necessary 2) insufficient

3) half the amount needed 4) expected to soar soon
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43- The passage implicitly states that playful interactions with children ---------- .
1) are not widespread mainly due to lack of local as well as national support
programs
2) are overshadowed merely due to parents’ low financial status
3) are not appreciated enough by some parents
4) often require the use of expensive tools
44- There is sufficient information in the passage to answer which of the following
questions?
1) Why is it that games cause parents, as well as children, to thrive both mentally
and physically?
2) How does play help children flourish their potential talents that might be left
dormant otherwise?
3) What kind of interactions with children, those with or those without tools, is
more likely to be more advantageous to them?
4) What are some of the variables that can deter parents and caregivers from
engaging in meaningful play with children?
45- The author mentions “hide and seek” in paragraph 3 mainly in order to ---------- ;
1) give an example of games not requiring the use of tools
2) exemplify how games are possible even in the home environment
3) argue that games with multiple players are actually easy to arrange
4) give an example of an inexpensive but favorable game among children

PASSAGE 3:

The most important distinction between price and value is the fact that price is
arbitrary and value is fundamental. For example, consider a person selling gold
bars for $5 apiece. The price of those gold bars is, in this instance, $5. It’s an
arbitrary amount chosen by the seller for reasons known only to them. Yet, in
spite of the fact that those gold bars are priced at $5, their value is so much more.

This happens a lot in the stock market. The examples may not be as
immediately noticeable as $5 bars of gold, but they are often quite extreme in
their own right. You see, the price of a stock is determined by a list of factors it
would take years to even read through. Many of these factors are driven by
human characteristics and emotions, such as fear and greed, market tendencies
and events so distantly related that trying to unravel the correlation between those
events and the stock’s price would make vour head spin. All of these things can
and do affect the price of a stock, sometimes to a large degree but rarely do they
significantly affect its value. The good news for investors is that, at some point
or another, a stock’s price almost always levels back out with its value. This truth
is the one that investors such as Warren Buffet have used to make billions.

Finding differences between price and value is by far the most effective
investment strategy. Not recognizing differences between price and value is also
what causes many investors to lose their shirts, as companies are just as often
overpriced as they are underpriced. So how do you find companies that are on
sale for less than their true value? The answer is to evaluate them using a set of
standards that look beyond the company’s current price tag. I call these standards
the four Ms, and they stand for Meaning, Moat, Management and Margin of
Safety.
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46- Which of the following is the best title for the passage?
1) Price versus Value in Business
2) Ways to Distinguish Price from Value
3) Price and Value: When They converge
4) Price and Value: Two Mutually Exclusive Concepts
47- Which of the following best describes the function of paragraph 2 in relation to
paragraph 1?
1) It qualifies the information in paragraph 1.
2) It further fosters the information in paragraph 1.
3) It uncovers yet another distinction between price and value in addition to that
mentioned in paragraph 1.
4) It introduces an example to demonstrate that the claim made in paragraph 1 is
not without its critics in higher business levels.
48- Why does the writer mention “greed” in paragraph 2?
1) To unravel the correlation between anthropogenic and non-anthropogenic events
that regulate the discrepancies between price and value in the stock market
2) To indicate that arbitrariness in humans’ decisions can at times disturb a
system, such as the stock market, that is meant to function consistently
3) To argue that human characteristics are the most important reason why there
is a gap between the price of a product and its true value
4) To refer to one of the variables that can play a somewhat arbitrary role in
determining the price of a stock
49- The underlined phrase “make your head spin” (paragraph 2) is closest in meaning
to which of the following?
1) cause you to think more 2) confuse you
3) have sort of an acute headache 4) distract your attention
50- None of the following are true, according to the passage, EXCEPT that ---------- .
1) there are not any strategies to use to find out if a company on sale is actually
overpriced
2) the variables playing a role in determining the price of a product are easy to detect
3) the price and value of a product may sometimes converge at one point
4) a product’s price is something fundamental rather than arbitrary

e o ok 4y o bllogld (sl (el ats b

PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank.
Then mark the correct choice on your answer sheet.

51- When people come to a market with goods ---------- produced, they trade their
goods for those of others.
1) have been 2) that being
3) they have 4) which they are

52- The development of paper money meant that people had grasped the difference
between money as a symbol and money as something ---------- only the actual cost
of the paper and ink in making a bill.
1) was worth 2) that was worth
3) that its worth was 4) whose worth
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53-

54-

55-

56-

57-

58-

59-

60-

For years historians have sought to identify crucial elements in the eighteenth-century
rise in industry, technology, and ---------- known as the Industrial Revolution.

1) economic power 2) economic power as

3) there was economic power 4) economic power was

When the work was completed, many moved to other construction jobs or to
factory work in cities and towns, where they became part of ---------- |

1) a working class and expand 2) a working class thereby expanding

3) an expandingly working class 4) an expanding working class

Other innovations of the late fourth millennium include the wheel, probably
developed first ---------- making pottery and then transferred to transport.

1) as a more efficient way of 2) more efficiently than that of a way for
3) as a way was more efficient in 4) more than it was efficient as way of
The place contained a number of channels lined by a sequence of holes, about 50
centimeters deep, ---------- burn marks and filled with ashes.

1) all showing 2) all showed

3) it all showed 4) and by showing all of

Moving water was one of the earliest energy sources ---------- harnessed to reduce
the workload of people and animals.

1) were 2) it was 3) to be 4) for being

Their problems stem partly from lingering supply chain issues and competition from
Chinese manufacturers, and the issues could ultimately hinder Europe’s, and even
----——----, ambitions to quickly develop emission-free energy sources.

1) in the world 2) the world

3) the one in the world 4) the world’s

The clock provided the punctuation marks for group activity, ---------- to order their
own work (and that of others) so as to enhance productivity.

1) individuals were enabled 2) enabled individuals

3) for individuals to be enabled 4) while enabling individuals

---------- came the emergence of the cities.

1) The increase in population and the centralized authority developed and

2) Population increased, centralized authority developed with, which there

3) With the increase in population and the development of centralized authority

4) When there was an increase in population and also the development of
centralized authority, then

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each
sentence. Then mark the answer on your answer sheet.

61-

62-

63-

“Come on, Mom! You’re not being fair! Why can’t I stay out until midnight just
like my friends? I’m old enough,” stated Marissa ---------- A

1) ironically 2) emphatically

3) ambiguously 4) distinctively

After his long, ---------- swim, Rajon was voracious: he wanted to eat until he could
eat no more.

1) thorough 2) exhausting 3) profound 4) omnipresent

The Post-Modern architectural style is an ---------- ; it combines diverse elements,
including classical columns, Baroque ornamentation, and Palladian windows.

1) amalgam  2) allusion 3) imitation 4) overstatement
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64- As a habitual skeptic, Jordan has always been inclined to ---------- what others
believe to be conventional wisdom.
1) acknowledge 2) adopt
3) question 4) misunderstand

65- Although Brandon claimed to be ---------- , he was clearly a partisan who had strong
and biased views on the key issues under consideration.
1) solitary 2) inflexible
3) laconic 4) neutral

66- As a result of the disastrous hurricane, Lindsey was left both destitute and ---------- s

67-

68-

69-

70-

she lost all of her possessions, and she faced a seemingly hopeless series of
problems.

1) pointless 2) desperate

3) fruitless 4) dubious

Payments were made to farmers to ---------- them for cuts in subsidies.

1) exploit 2) compensate

3) exchange 4) discount

There was ---------- when the concert began: fans screamed so loudly that few in
the arena could hear the lyrics of their songs.

1) expansion 2) feedback

3) diversity 4) pandemonium

Far from ---------- their energy, the challenge posed by the Tournament of

Champions seems to have rejuvenated the coach and his previously indifferent
team.

1) disregarding 2) anticipating

3) draining 4) charging

The debate between the candidates was animated but ---------- , since the speakers
needlessly repeated campaign slogans and innocuous promises.

1) redundant 2) exciting

3) disputatious 4) efficacious

PART C: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
best fits each space. Then mark the correct choice on your answer sheet.

What Is Employability?

Employability is the lifelong, continuous process of acquiring experience, new
knowledge, purposeful learning, and skills that (71) ---------- to improving your
marketability for enhancing your potential to obtain and (72) -------—---
employment through various shifts in the labor market. It is based on a set of
individual characteristics.

It is not (73) ---------- to employment; rather, it is a prerequisite for gainful
employment. Essentially, employability is your relative ability to find and stay
employed, as well as make successful (74) ---------- from one job to the next,
either within the same company or (75) ---------- or to a new one, at the
(76) ---------- of an individual and as circumstances or economic conditions may
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77-
78-
79-
80-

Employability will vary with economic conditions, although there are some
exceptions in (78) ---------- insulated from economic fluctuations, such as
healthcare, education, and defense (79) ---------- . It applies to almost everyone
who is part of the labor force, as the ability to obtain, maintain, and switch
employment over time is (80) ---------- anyone’s survival as well as success in
life. You must have a set of skills that are usable in the labor market.

1) convert 2) contribute 3) assent 4) subscribe
1) vary 2) replace 3) maintain 4) commence
1) equivalent  2) available 3) indifferent 4) relevant

1) functions  2) revivals 3) ambitions 4) transitions
1) ilk 2) competition 3) faction 4) field

1) characteristic 2) discretion

3) recognition 4) preference

1) flourish 2) distribute 3) dictate 4) differentiate
1) firms 2) professions 3) subjects 4) hierarchies
1) sectors 2) domains 3) spheres 4) parts

1) imperative to 2) imposed on

3) atypical of 4) detached from

PART D: Reading Comprehension

Directions: Read the following three passages and choose the best answer to each
question. Then mark the answer on your answer sheet.

PASSAGE 1:

Desalination is being adopted as a solution to the problem of the scarcity of
usable fresh water in areas where demand has outstripped the sustainable supply,
or where natural sources of water supply are either fragile or in danger of being
exhausted and also where climate change is making previously reliable sources
unreliable. It takes sea water and produces water that is suitable for human
consumption or for agricultural purposes by a separation process that removes
the dissolved salts and other impurities. There are various methods for doing this;
the one most commonly used is called reverse osmosis, which involves four
major processes, or stages, namely initial pre-treatment, pressurization,
membrane separation and finally post-treatment stabilization.

Once the water has been collected from its source, it is transported to a holding
basin. In reverse osmosis, pre-treatment is very important, as the surfaces of the
membranes that play a central role in this method of desalination need to remain
clean to work effectively and can be easily dirtied and damaged by impurities in
the feed water, as it is now called. In the initial part of this pre-treatment stage,
pieces of wood and smaller suspended solids like sand are removed by passing
the feed water through a particle filter. Then the filtered water is pumped through
fine carbon microfilters that trap minerals and contaminants such as pesticides.
Chlorine is also removed here as a protective measure, as it would otherwise
shorten the life of the membranes. Next, the water is put under high pressure and
pushed through the permeable membranes arranged in series, which prevent the
passage of dissolved salts in the seawater, while allowing the separated and
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81-

82-

83-

84-

85-

86-

87-

desalinated product water to pass through. Approximately half the feedwater
becomes product water. The remaining 50%, now with a higher concentration of
salts, is rejected and returned to the source. In the post-treatment stage, the
product water undergoes blending with chemicals and minerals. Finally, the
product water is sent to a cistern, where it is stored awaiting distribution for use.

What is the main purpose of the passage?

1) To correct a common misconception about a long-lasting dilemma

2) To compare several approaches to address a challenge

3) To describe a particular scientific breakthrough

4) To describe a way to combat a problem

All of the following are mentioned as areas where desalination is being adopted

EXCEPT those where ---------- .

1) demand has surpassed supply

2) natural resources of water are insufficient now

3) water resources are no longer as reliable as they once were

4) water for agricultural purposes outstrips other uses to which water is put

Which of the following can be properly understood about reverse osmosis from the

passage?

1) It is the one best method now available.

2) It is frequently used because it is more cost-effective.

3) It is used more often than the other methods that can fulfill the same function.

4) It can generate more fresh water compared to the other methods of desalination.

The underlined word “it” in paragraph 2 refers to which of the following?

1) desalination 2) feed water

3) method 4) water obtained in the pre-treatment stage

Which of the following is true about the pre-treatment stage?

1) The source water used can be the water already used for agricultural purposes.

2) Fine carbon microfilters can separate certain specific impurities only.

3) The water that goes through a particle filter is devoid of impurities.

4) Chlorine is used to protect the membranes used in this stage.

Which of the following is the main rhetorical function of paragraph 2?

1) Classification 2) Definition

3) Function description 4) Process description

Which of the following is true about the water ready for distribution for use?

1) It is kept in something that acts like a reservoir.

2) It includes all the water that enters the first stage in desalination.

3) Itis yet to blend with certain chemicals and minerals to augment its fitness for use.

4) It includes some unwanted particles that are nonetheless innocuous for human
consumption.

PASSAGE 2:

Agritourism is becoming an increasingly popular way for rural property owners to
earn additional income from agricultural properties. In addition to more traditional
farm tours and seasonal activities, such as hay rides, corn mazes and u-pick fruits,
farm owners are devising new ways to bring people to their door by offering more
entertainment-oriented activities. Some farmers are offering their barns as venues for
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weddings, parties and other special events. Others are opening their homes to visitors
for vacations, so guests can experience life on a working farm by helping out with
routine farm chores, such as feeding or herding the livestock, milking the animals,
making cheese, collecting eggs, picking vegetables and preparing farm fresh meals.
Agritourism works in combination with a growing public desire to engage in rural
experiences and outdoor recreational activities. By combining agriculture and
tourism, agritourism offers these rural experiences to urban residents and economic
diversification to farmers.

Part of the attraction of agritourism is the nostalgia it creates for a simpler time
and its authenticity. Tourists are being sold, not only on beautiful sceneries and
visual aesthetics, but also experiences that are meant to open up a new world for
these customers who are tired of the hustle and bustle of city life. Authenticity
has been an abiding theme in tourism studies and it may have a special meaning

in this combination of agriculture and tourism. For one thing, the image of the
family farm remains imbued with deep authenticity, the surviving representation
of an old world ideal. To partake in agritourism is therefore likely to convey the
sense of having a deeply authentic experience. Critics have claimed that this
desire to reconnect with the life world of one’s ancestors may conflict with the
nature of modern agriculture and whether the tourist will want to face its true
realities. It seems therefore that often the most distinctive innovative effort
involves the reinvention of tradition and rural tourism products.

88- What is the best title for the passage?
1) Rise of Agritourism
2) Agritourism: For and Against
3) Sustainability of a New Trend in Tourism
4) Agritourism: Is It a Viable Approach to Tourism?
89- Which of the following best describes the function of paragraph 2 in relation to the
topic of paragraph 1?
1) Qualification 2) Exemplification
3) Reason provision 4) Description of defects
90- Which of the following best describes the organization of paragraph 1?
1) A thesis is mentioned and quick examples to clarify it are presented.
2) An argument is advanced and reasons in its favor are briefly listed.
3) A phenomenon is described, and an interpretation of it is offered.
4) A claim is made, and the corroborating evidence is evaluated.
91- All of the following are mentioned in the passage as activities agritourists are likely
to do when they are on their tour EXCEPT ---------- .
1) do some tasks that famers usually do on a farm
2) take a ride in an open vehicle filled with hay
3) help traditional farmers diversify their crops
4) partake in outdoor recreational activities
92- The underlined word “abiding” in paragraph 2 is closest in meaning to which of
the following?
1) fascinating 2) everpresent
3) valid 4) progressive
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93- The underlined word “it” in paragraph 2 refers to a kind of ---------- .
1) agritourism 2) nostalgia
3) attraction 4) part
94- There is NOT enough information in the passage to answer which of the following
questions?
1) Have farm owners contributed to developing certain activities to promote
agritourism?
2) What is one reason why there is a growing public desire to engage in rural
experiences?

3) What is a reason, other than economic benefits, that makes farmers willing to
welcome agritourism?

4) Why do some people argue that agritourists may not try to authentically reconnect
to the life world of their ancestors?

95- Which of the following could best be inferred form the passage?

1) There are certain activities agritourists engage in on a farm in specific seasons
only.

2) In near future, weddings, parties and other special events will be held more in rural
areas than in urban ones.

3) The foods that agritourists prefer the most are the ones whose ingredients they
themselves have collected on the farm.

4) No attempts can ever be made to narrow down the gap between the realities
on the modern farm and what agritourists expect to experience.

PASSAGE 3:

A social problem can be defined as a condition that is considered undesirable by
a sufficient number of members of a specific community to constitute a group.
There are, however, degrees of social problem, ranging from the relatively trivial
to those that are so serious as to call into question the most important values of
the society in question. On some there is likely to be consensus, while others may
provoke extreme debate. Nobody could claim that social problems such as
murder and traffic deaths resulting from careless driving are to be accepted as
minor issues. However, it is not hard to find examples of other social problems
that divide opinion. Teenagers playing loud music in a public park on finishing

their school day obviously do not consider their behavior unreasonable, but it
may well be considered an extremely undesirable social condition by other
groups who feel they have an equal right to enjoy the park and its facilities.
Similarly, a number of non-smokers hold the view that smoking is an undesirable
social condition that should be banned or restricted in all outdoor public areas.
Nevertheless, research indicates there are factors that determine the degree to
which a phenomenon comes to be perceived and accepted as a social problem.
For example, the likelihood of a condition being considered a social problem is
much greater if the group it affects are themselves powerful; that is, if they are
figures of influence. For this reason, the problems that made life difficult for the
poor tended to escape notice until they had some impact on the rich and middle-
class citizens, for example when they became victims of crime. In the United
States, the problem of drug abuse attracted substantially more attention once it
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spread from the lower-class, predominantly non-white population and began to
affect the sons and daughters of the educated middle class.

96- It can be understood from the passage, the issue of how seriously a problem is
viewed in society is determined based on -------- a
1) the ideological perspectives of those who analyze them
2) some fixed yardsticks that are not susceptible to change
3) the prominence it has recently gained compared to the past
4) the bearing it has on social determinants of power and influence
97- What main role does the underlined portion is intended to play in the context of
paragraph 1?
1) It proves the hypothesis that to successfully handle social problems, one needs to
take account of different interest groups in a society.
2) It demonstrates why it is difficult to offer a widely accepted definition of social
problems.
3) It is evidence that there is no social problem on whose existence one can find
consensus.
4) It presents an instance of a behavior that is used to support an earlier assertion.
98- The underlined “which” in paragraph 2 refers to which of the following?
1) factor 2) research
3) degree 4) phenomenon
99- According to paragraph 2, the reason problems that made life difficult for the poor
tended to escape notice was that the poor ---------- .
1) had not yet become victims of crime
2) were not influential figures in society
3) were afraid to have their voice heard
4) hoped they could soon become part of the rich and middle-class citizens
100- Which of the following can be inferred about drug abuse in the United States, as it
is discussed in paragraph 2?
1) It was not once of much concern to people in the upper social class.
2) Its spread from the low-class to higher strata of society did not receive much
attention.
3) Children from the rich and middle-class are not being affected by drug abuse
more severely than previously thought.
4) The rich and middle-class citizens relished observing that children from the lower
class were attracted to drug.
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